Math122 Quiz #5 3 November 2011
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Directions: Show all work., No credit for answers without work.

1. [2 points| Find all inflection points of f(z) = 2% — 224 + 18z.
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/ﬁ-’_‘\ 2. {3 points] Your velocity v (in m/sec) at time # (in seconds) is given by w(t) = T

(a) Carefully draw a graph of v(t) from t = 0 to t = 3 seconds.
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(b) Using 6 rectangles, estimate the distance traveled between time £ = 0 and t = 3.
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(¢} Illustrate your estimate on the graph drawn in part {a). Is your estimate lower, higher,
or exactly equal to the true distance traveled?
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3. [ points] Find the exact global maximum and minimum values of g{z) = T2 Over [0,10].
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\ 4. [3 points] An ice cream company finds that at a price of $3.50, demand is 5000 units. For
every $0.15 increase in price, demand decreases by 153 units.

I
‘ (a) Find the demand ¢ as a function of price p.
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{b} Find the revenue R as a function of price p.
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(¢} Find the price and quantity sold that maximize revenue.
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